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1. Introduction
In the RAN4#81 meeting, the way forward on coexistence simulation assumptions [1] was agreed to conduct the NR coexistence study. In this contribution, we want to share some simulation results in Urban Macro scenario and some initial observations. 
2. Simulation results  
According to the simulation assumption agreed in the WF[1], we obtained the following the simulation results and initial observations on the ACIR requirement for NR Macro BS. 
DL to DL: 30GHz
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Figure 1. Throughput loss vs ACIR
When ACIR is ranging from 5dB to 40dB, the average throughput loss will decrease dramactically as shown in Figure 1. When ACIR is set as 25dB, average throughput loss and 5%-tile throughput loss will be around 5% which is still acceptable according to legacy LTE requirment. In addition, the intial obervation we can make is that beamforming from BS and UE side will alleivate the adjacent channel interference quite lot. 
Proposal 1:  it’s proposed to set ACIR as 25dB for NR Macro DL to align with legacy LTE requirement.  
 UL to UL: 30GHz
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Figure 2. Throughput loss vs ACIR
Similar oberservations can be made for NR Macro UL coexistence scenario. When ACIR is ranging from 5dB to 40dB, the average throughput loss will decrease dramactically as shown in Figure 2. When ACIR is set as 15dB, average throughput loss and 5%-tile throughput loss will be around 5% which is still acceptable according to legacy LTE requirment. 
Proposal 2:  it’s proposed to set ACIR as 15dB for NR Macro UL to align with legacy LTE requirement.  
3. Conclusions
In this proposal, the coexistence simulation results for Urban Macro scenario are provided for initial analysis and observations can be made as following:
Proposal 1:  it’s proposed to set ACIR as 25dB for NR Macro DL to align with legacy LTE requirement.

Proposal 2:  it’s proposed to set ACIR as 15dB for NR Macro UL to align with legacy LTE requirement.  
The proposed ACIR requirement is summarized in the following table. 
Table 1. Proposed ACIR requirement
	Urban Macro NR BS 
	    Downlink/Uplink [30GHz]

	
	DL 
	UL 

	ACIR requirement 
	25
	15
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